

ON EQUATIONS FOR THE POSITION DETERMINATION OF A MOVING OBJECT

(OB URAVNENIYAKH MESTOPOLOZHENIYA
DVIZHUSHCHEGOSIA OB'EKTA)

PMM Vol.28, № 6, 1964, pp.1135-1137

V.N.KOSHLIAKOV

(Kiev)

(Received June 17, 1964)

The present paper is an outgrowth of [1 and 2] in the parts concerning the integration of the equations determining the coordinates of an object moving over the Earth's globe.

1. The problem of the autonomous determination of the coordinates of an object moving over the surface of the Earth may be solved by different methods.

Two versions of inertial systems are considered in [1 and 2]. In both these versions, the problem of integrating a system of nonlinear differential equations of the form

$$\begin{aligned} (U + \lambda') \cos \varphi \sin \vartheta - \varphi' \cos \vartheta &= \omega_x(t), & (U + \lambda') \cos \varphi \cos \vartheta + \varphi' \sin \vartheta &= \omega_y(t) \\ (U + \lambda') \sin \varphi + \vartheta' &= \omega_z(t) \end{aligned} \quad (1.1)$$

is imposed on some computer unit.

Here ω_x , ω_y , ω_z should be considered known functions of t .

Let us keep in mind the second of the above-mentioned versions of the inertial system which consists of a space gyrocompass, a directional gyroscope and an integrator [2]. In this case, as has been shown in [2 and 3], we can always consider $\omega_x \equiv 0$, and we then have from (1.1)

$$\begin{aligned} \varphi' &= \omega_y \sin \vartheta, & \vartheta' &= \omega_z - \omega_y \cos \vartheta \tan \varphi, & \lambda' &= -U + \omega_y \cos \vartheta \sec \varphi \\ & & & & & \left(\vartheta = \tan^{-1} \frac{v_N}{RU \cos \varphi + v_E} \right) \end{aligned} \quad (1.2)$$

The notation in (1.2) is the same as in [2 and 3]. Let us recall that φ and λ are the present latitude and longitude of the position; ϑ is the present value of the velocity deviation of the gyro-horizon compass. Here v_N and v_E are the northerly and easterly components, respectively, of the object's velocity relative to the Earth. In the system under consideration the velocity correction to the compass is produced autonomously.

2. The method of successive approximations in some form or other is customarily used in investigations of systems of the type (1.1). For example, representing the first two equations of (1.2) as a system of integral equations we obtain

$$\varphi = \varphi(0) + \int_0^t \omega_y(\tau) \sin \vartheta(\tau) d\tau, \quad \dot{\vartheta} = \dot{\vartheta}(0) + \int_0^t \omega_z(\tau) d\tau - \int_0^t \omega_y(\tau) \cos \vartheta(\tau) \tan \varphi(\tau) d\tau \quad (2.1)$$

Here $\varphi(0)$ and $\dot{\vartheta}(0)$ are the initial values of the latitude of the position and of the velocity deviation.

According to the method of successive approximations we can assume

$$\varphi^{(n)} = \varphi^{(0)} + \int_0^t \omega_y(\tau) \sin \vartheta^{(n-1)}(\tau) d\tau, \quad \dot{\vartheta}^{(n)} = \dot{\vartheta}^{(0)} - \int_0^t \omega_y(\tau) \cos \vartheta^{(n-1)}(\tau) \tan \varphi^{(n-1)}(\tau) d\tau \quad (2.2)$$

$$\left(\varphi^{(0)} \equiv \varphi(0), \quad \dot{\vartheta}^{(0)} \equiv \dot{\vartheta}(0) + \int_0^t \omega_z(\tau) d\tau \right)$$

Use of this method on the system (2.1) is known to be inconvenient, in that the actual realization of the quadratures is rapidly made complicated as the approximations are evaluated. Moreover, strictly speaking the range of variation of t within which the solution of the system (2.1) may be obtained by the Picard method should be established.

3. Let us assume in (1.1)

$$\lambda + Ut = \psi, \quad 1/2 \pi - \varphi = \theta \quad (3.1)$$

and let θ be denoted by φ_0 . We then arrive at equations of the form

$$\psi' \sin \theta \sin \varphi_0 + \dot{\theta}' \cos \varphi_0 = \omega_x, \quad \psi' \sin \theta \cos \varphi_0 - \dot{\theta}' \sin \varphi_0 = \omega_y, \quad \psi' \cos \theta + \dot{\varphi}_0' = \omega_z \quad (3.2)$$

The system (3.2) has the structure of the Euler kinematic equations in the variables ψ , θ and φ_0 . Hence, the problem of integrating the system (1.1) for given ω_x , ω_y and ω_z is equivalent to the classical problem of determining the position of a solid body by means of its angular velocity. In the general case this problem, which reduces to the Riccati equation, does not reduce to quadratures [4]. Putting $\omega_x = 0$ in (3.2) and, moreover,

$$\gamma_1 = \sin \varphi_0 \sin \theta, \quad \gamma_2 = \cos \varphi_0 \sin \theta, \quad \gamma_3 = \cos \theta \quad (3.3)$$

we obtain the Poisson equation [5] in the variables γ_1 , γ_2 , γ_3

$$\gamma_1' = \omega_z \gamma_2 - \omega_y \gamma_3, \quad \gamma_2' = -\omega_z \gamma_1, \quad \gamma_3' = \omega_y \gamma_1 \quad (3.4)$$

The Rodrigue-Hamilton equations for the case under consideration will be

$$2\lambda_0' = -\omega_y \lambda_2 - \omega_z \lambda_3, \quad 2\lambda_1' = \omega_z \lambda_2 - \omega_y \lambda_3 \quad (3.5)$$

$$2\lambda_2' = \omega_y \lambda_0 - \omega_z \lambda_1, \quad 2\lambda_3' = \omega_z \lambda_0 + \omega_y \lambda_1$$

where

$$\lambda_0 = \cos \frac{\theta}{2} \cos \frac{\psi + \varphi_0}{2}, \quad \lambda_1 = \sin \frac{\theta}{2} \cos \frac{\psi - \varphi_0}{2} \quad (3.6)$$

$$\lambda_2 = \sin \frac{\theta}{2} \sin \frac{\psi - \varphi_0}{2}, \quad \lambda_3 = \cos \frac{\theta}{2} \sin \frac{\psi + \varphi_0}{2}$$

in which the parameters λ_i satisfy the condition [4]

$$\lambda_0^2 + \lambda_1^2 + \lambda_2^2 + \lambda_3^2 = 1 \quad (3.7)$$

Let us represent (3.4) and (3.5) as equivalent systems of integral equations

$$\gamma_1 = \gamma_1(0) + \int_0^t (\omega_z \gamma_2 - \omega_y \gamma_3) d\tau, \quad \gamma_2 = \gamma_2(0) - \int_0^t \omega_z \gamma_1 d\tau, \quad \gamma_3 = \gamma_3(0) + \int_0^t \omega_y \gamma_1 d\tau \quad (3.8)$$

$$\begin{aligned} \lambda_0 &= \lambda_0(0) - \frac{1}{2} \int_0^t (\omega_y \lambda_2 + \omega_z \lambda_3) d\tau, & \lambda_1 &= \lambda_1(0) + \frac{1}{2} \int_0^t (\omega_z \lambda_2 - \omega_y \lambda_3) d\tau \\ \lambda_2 &= \lambda_2(0) + \frac{1}{2} \int_0^t (\omega_y \lambda_0 - \omega_z \lambda_1) d\tau, & \lambda_3 &= \lambda_3(0) + \frac{1}{2} \int_0^t (\omega_z \lambda_0 + \omega_y \lambda_1) d\tau \end{aligned} \quad (3.9)$$

Here, the $\gamma_i(0)$ are initial values of the variables γ_i , $\lambda_i(0)$ are the initial values of the Rodrigue-Hamilton parameters. Because of the linearity of the systems (3.8) and (3.9), their symmetry and the absence of trigonometric functions of the unknowns, successive approximations are more effective here for the system (1.1). In a first approximation we have from (3.8) and (3.9)

$$\begin{aligned} \gamma_1^{(1)} &= \gamma_1(0) + \gamma_2(0) \Omega_z(t) - \gamma_3(0) \Omega_y(t) \\ \gamma_2^{(1)} &= \gamma_2(0) - \gamma_1(0) \Omega_z(t) \\ \gamma_3^{(1)} &= \gamma_3(0) + \gamma_1(0) \Omega_y(t) \end{aligned} \quad \left(\Omega_{y,z}(t) = \int_0^t \omega_{y,z}(\tau) d\tau \right) \quad (3.10)$$

and also

$$\begin{aligned} \lambda_0^{(1)} &= \lambda_0(0) - 1/2 \lambda_2(0) \Omega_y(t) - 1/2 \lambda_3(0) \Omega_z(t) \\ \lambda_1^{(1)} &= \lambda_1(0) + 1/2 \lambda_2(0) \Omega_z(t) - 1/2 \lambda_3(0) \Omega_y(t) \\ \lambda_2^{(1)} &= \lambda_2(0) + 1/2 \lambda_0(0) \Omega_y(t) - 1/2 \lambda_1(0) \Omega_z(t) \\ \lambda_3^{(1)} &= \lambda_3(0) + 1/2 \lambda_0(0) \Omega_z(t) + 1/2 \lambda_1(0) \Omega_y(t) \end{aligned} \quad (3.11)$$

The values of λ_i determined by Formulas (3.11), satisfy condition (3.7) if we limit ourselves to first order terms in $\Omega_y(t)$ and $\Omega_z(t)$.

4. Using (3.10) and taking (3.3) into account, we obtain

$$\begin{aligned} \cos \theta &= \cos \theta(0) + \sin \varphi_0(0) \sin \theta(0) \Omega_y(t) \\ \tan \varphi_0 &= \frac{\sin \varphi_0(0) \sin \theta(0) + \cos \varphi_0(0) \sin \theta(0) \Omega_z(t) - \cos \theta(0) \Omega_y(t)}{\cos \varphi_0(0) \sin \theta(0) - \sin \varphi_0(0) \sin \theta(0) \Omega_z(t)} \end{aligned} \quad (4.1)$$

Returning to the old variables by means of (4.1), we have

$$\begin{aligned} \sin \varphi &= \sin \varphi(0) + \cos \varphi(0) \sin \theta(0) \Omega_y(t) \\ \tan \vartheta &= \frac{\sin \vartheta(0) + \cos \vartheta(0) \Omega_z(t) - \tan \varphi(0) \Omega_y(t)}{\cos \vartheta(0) - \sin \vartheta(0) \Omega_z(t)} \end{aligned} \quad (4.2)$$

For the longitude we have from the third equation of the system (1.2)

$$\lambda = \lambda(0) - Ut + \int_0^t \omega_y(\tau) \cos \vartheta(\tau) \sec \varphi(\tau) d\tau \quad (4.3)$$

Here φ and ϑ are determined by means of Expressions (4.2). By substituting their initial values for ϑ and φ in (4.3) we have for the first estimate

$$\lambda = \lambda(0) - Ut + \cos \vartheta(0) \sec \varphi(0) \Omega_y(t) \quad (4.4)$$

A more exact formula may be obtained for λ by using the Rodrigue-Hamilton parameters. From (3.6) we have

$$\tan \psi = \frac{\lambda_1 \lambda_3 + \lambda_0 \lambda_2}{\lambda_0 \lambda_1 - \lambda_2 \lambda_3} \quad (4.5)$$

Using (3.11) and being limited only to first order parameters in the integrals of ω_y and ω_z , we have

(4.6)

$$\lambda_0 \lambda_1 - \lambda_2 \lambda_3 = \lambda_0(0) \lambda_1(0) - \lambda_2(0) \lambda_3(0) - [\lambda_0(0) \lambda_3(0) + \lambda_1(0) \lambda_2(0)] \Omega_y(t)$$

$$\lambda_1 \lambda_3 + \lambda_0 \lambda_2 = \lambda_1(0) \lambda_3(0) + \lambda_0(0) \lambda_2(0) + 1/2 [\lambda_0^2(0) + \lambda_1^2(0) - \lambda_2^2(0) - \lambda_3^2(0)] \Omega_y(t)$$

By virtue of (3.6), here

$$\lambda_0(0) \lambda_1(0) - \lambda_2(0) \lambda_3(0) = 1/2 \sin \theta(0) \cos \psi(0)$$

$$\lambda_1(0) \lambda_3(0) + \lambda_0(0) \lambda_2(0) = 1/2 \sin \theta(0) \sin \psi(0)$$

$$\lambda_0(0) \lambda_3(0) + \lambda_1(0) \lambda_2(0) = 1/2 [\sin \psi(0) \cos \varphi_0(0) + \cos \psi(0) \sin \varphi_0(0) \cos \theta(0)] \quad (4.7)$$

$$\lambda_0^2(0) + \lambda_1^2(0) - \lambda_2^2(0) - \lambda_3^2(0) = \cos \psi(0) \cos \varphi_0(0) - \sin \psi(0) \sin \varphi_0(0) \cos \theta(0)$$

Hence

$$\tan \psi = \frac{\sin \theta(0) \sin \psi(0) + [\cos \psi(0) \cos \varphi_0(0) - \sin \psi(0) \sin \varphi_0(0) \cos \theta(0)] \Omega_y(t)}{\sin \theta(0) \cos \psi(0) - [\sin \psi(0) \cos \varphi_0(0) + \cos \psi(0) \sin \varphi_0(0) \cos \theta(0)] \Omega_y(t)} \quad (4.8)$$

Returning to the old variables, we finally have

(4.9)

$$\lambda = -Ut + \tan^{-1} \frac{\sin \lambda(0) + [\cos \lambda(0) \cos \vartheta(0) \sec \varphi(0) - \sin \lambda(0) \sin \vartheta(0) \tan \varphi(0)] \Omega_y(t)}{\cos \lambda(0) - [\sin \lambda(0) \cos \vartheta(0) \sec \varphi(0) + \cos \lambda(0) \sin \vartheta(0) \tan \varphi(0)] \Omega_y(t)}$$

5. The accuracy with which this inertial system produces the coordinates of the position in the presence of errors in the gyrocompass and directional gyroscope readings may be estimated by means of (4.2), (4.3) and (4.9). In particular, the expressions

$$\omega_y = v/R + \omega\beta + \gamma', \quad \omega_z = -v/R\beta + \omega + \alpha'$$

where α , β and γ are angles defining the position of the gyrocompass [3], should be taken in the mentioned formulas for ω_y and ω_z when it is necessary to take account of small gyrocompass motions (which practically always exist).

BIBLIOGRAPHY

1. Ishlinskiĭ, A.Iu., *Opredelenie mestopolozheniia dvizhushchegosia ob'ekta posredstvom giroskopov i izmeritelei uskoreniĭ* (Position determination of a moving object by means of gyroscopes and accelerometers). *PMM* Vol.21, № 6, 1957.
2. Ishlinskiĭ, A.Iu., *Ob avtonomnom opredelenii mestopolozheniia dvizhushchegosia ob'ekta posredstvom prostranstvennogo giroskopicheskogo kompasa, giroskopa napravleniia i integriruiushchego ustroistva* (On the autonomous determination of a moving object's position by means of a space gyrocompass, directional gyroscope and integrator). *PMM* Vol.23, № 1, 1959.
3. Ishlinskiĭ, A.Iu., *K teorii girogorizontkompasa* (On the theory of a gyrohorizon compass). *PMM* Vol.20, № 4, 1956.
4. Lur'e, A.I., *Analiticheskaia mekhanika* (Analytical Mechanics), Fizmatgiz, Moscow, 1961.
5. Golubev, V.V., *Lektsii po integrirovaniu uravnenii dvizheniia tiazhelego tverdogo tela okolo nepodvizhnoi toчки* (Lectures on Integration of the Equations of Solid Body Motion Around a Fixed Point). Gostekhizdat, Moscow, 1953.

Translated by M.D.F.